JL_

Lattice 3 by 2 Name:
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
828 x 35= 953 x 85= 706 x 55 = L
7 /7 /7 7 7/ 7 4 7 7/
/s s s /s ’ ’ ’ s s
7 7 7 7 /7 /7 7 /7 2
7 s 7 / ’ / ’ s 7
/7 Ve /7 4 e e /7 7 7
/, // /, // // // // // // // // //
7 7 7 y 4 7 7/ Y 4 Ve 7 3
/ / V2 7/ 7/ V 4 4 7/ .
7 7 ’ 4 4 / 4 4 Ve
/ 7 7 / / 7 4 4 /
d d s L7 e , 7 7 ,
/7 /7
4,
5.
4) _ 5) _ 6) _
862 x 57 = 350 x 99 = 488 x 19 =
6.
/s ’ ’ s s s ’ s s
s s s ’ /s /s ’ s s
7 7/ /7 7 7/ /7 7 7/
’ ’ z ’ ’ ’ ’ ’ z 7.
/7 7 7 7 7/ Y 4 7 7
7 7 7 , 4 /7 7/ y 4 7/ 4 7
// // // // // // // // /’ // ’ //
7 s ’ 4 4 s 4 4 / 8
’ 7 ’ 4 4 Vi 4 4 4 .
s 7/ 7 / / 7 4 4 /
7 7 V] 4 4 7 4 4 s
Ve 7 , / V4 Y 7 7
9.
10.
7) _ 8) _ 9 _
543 x 53 = 387 x 83 = 702 x 60 =
11.
/s ’ ’ s s s ’ s s
e 7 ' /7 7 7 4 e 7
// // // // // // // 7 //
7 7 7/ 7/ / 7 7/ 4 4 12
7 7 7 , 4 7 7/ V 4 7/ 4 7
// // // // // // // // /’ // 4 //
7 s Vs 4 4 s 4 7 /
7 7 7 4 7/ 7 4 4 4
Vi 7 , / / ’ 4 7 /
7 7 V] 4 4 7 4 4 7/
7 7 V. /s 7 , 7 7
10) 11) 12)
244 x 16 = 848 x 21 = 673 x70=
’ ’ s s s s ’ s s
4 7 /7 /7 7 7 4 /7 /7
s /s /s s / 7 4 ’
’ s s / s ’ ’ s 7
/ /7 7 4 7/ /7 4 7 7
7 7 7 , 4 /7 7/ V2 4 7/ 4 Vs
// // // /, // // // // // // 4 //
7 s Vi 4 4 s 4 4 7
’ 7 V2 4 4 s 4 4 4
s / ’ 4 3 ’ 4 4 7
7 7/ Y 4 4 7 4 4 7z
/ / s ’ 7 V2 7 7
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Lattice 3 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
828 x 35 = 953 x 85 = 706 x 55 = N 28,980
8 2 8 9 5 3 7 0 6
2/,’ 0 .72 3 7// 4 12 s 3 ?i 0 .73 7 5 |2 81,005
2/ 4//6//4 8/ 2//0//4 3/ 5//0//0
N N EX e A2 s |3 1o |3
8/0/0,’05 1/5/5,’55 8/5/0,’053' 38’830
// 9 // 8 // 0 // O // O // 5 // 8 // 3 //
S8, SRR R s 49134
5 34,650
4) 862 x 57 = 5 350 x 99 = 6) 488 x 19 =
6. 9,272
8 6 2 3 5 0 4 8 8
4//3//1// 2//4//0// 0//0//0//
4,70l 0, 0 3|70, 5|, 0| ol.” a4l 8|, 8|7 28,779
54, 2,714,710 AN8LAT T
9|.”6|.7 2|, 4 41,7151, 0 9|, 6|.7 2], 2 g. 32,121
/// 1 /// 3/// 4 /// 6 /// 5/// O /// 2 /// 7/// 2
9 42,120
10. 3,904
7 543 x 53 = 8) 387 x 83 = 9) 702 x 60 =
5 4 3 3 8 7 7 0 2 u 17,808
2,’2,’1,’5 2,’6,’5,’8 4,’0,’1,’6
2.7 5/.,7 0[,” 5 3.7 4|.7 4|7 6 41,7 2,7 0].,7 2 1 47,110
/// 1 /// 1 /// O/// 3 /// o /// 2 /// 2/// 3 /// O /// 0 /// 0/// 0
8|1.”5(.72|,79 21,7 9.7 4,7 1 21,70|.70|,70
/// 7 /// 7/// 9 /// l /// 2/// 1 /// 1 /// 2/// O
10) 244 x 16 = 11) 848 x 21 = 12) 673 x70=
2 4 4 8 4 8 6 7 3
0o.,/10 ,7{0 - 1,0 ,711 ,- 4 14 7|2 7
V2 s / 1 ’ V Y 2 s ’ ’ 7
O // 2 // 4 // 4 1 // 6 // 8 // 6 4 // 2 // 9 // 1
//1//2//2// ’/0//0//0// ’/O//O/IO//
/7 // // V2 6 4 // // y 1 /7 // // V2 0
3(.72.7 41,7 4 71,28, 4],” 8 71.01.0],70
/// 9 /// O/// 4 /// 8 /// O/// 8 /// 1 /// l/// O
1-10 [ 92|83 75]67 58|50 42[33| 25|17 |
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